
1. Critically evaluate the short comings of

the industrial policy pursued by the

colonial administrators (2)

2. Explain the merits of Green Revolution

(3)

3. Examine how outsourcing helps Indian

economy (4)

4. Critically evaluate the poverty

alleviation programmes implemented

in India (4)

1. {_o´ojv tImtfm-Wn-b¬ `c--W-Øn¬ A\p-

h¿Øn®p t]m∂ hyh-km-bnI \b-Øns‚

t]mcm-bva-Iƒ hna¿i-\m-fl-I-ambn hne-bn-

cp-ØpI (2)

2. Im¿jnI hnπ-h-Øns‚ KpW-hn-ti-j-ßƒ

hni-Zo-I-cn-°pI (3)

3. Hu´vtkm-gvknwKv Fßn-s\-bmWv C¥y≥

kºZv hyh-ÿsb klm-bn-°p-∂-sX∂v ]cn-

tim-[n-°pI (4)

4. C¥y-bn¬ Zmcn{Zy \n¿Ωm¿÷-\-Øn-\mbn

\S-∏n-em-°nb hnhn[ ]cn-]m-Sn-Isf hna¿i-

\m-fl-I-ambn hne-bn-cp-Øp-I. (4)
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5. Differentiate between human capital

and human capital formation (4)

6. Give suggestion for further

development in rural areas in India (8)

(Clues: Rural credit - rural agricultural

marketing organic farming)

7. Write the economic terms

Unemployment caused by seasonal

change (1)

8. Visibly employed but actually

unemployed (1)

9. Mohan is an engineering graduate. But

he is working as a bus conductor. Is he

gainfully employed? Give your reasons

(2)

10. Prepare a list of medical facilities of in

your district. (4)

11. Identify the factors responsible for land

degradation in India. (4)

12. Find the odd one out

 ASEAN, BRICS, WTO, GATT (1)

13. In which country planning started in

1956

a.  India       b.  China

c.  Russia     d.  Pakistan

Write wether the statement True of False

14. The Great Leap Forward programme

was initiated in Pakistan for massive

industrialisation. (1)

15. Find the odd one out (1)

height, weight, honesty, price, income

5. a\pjy aqe-[-\-hpw, a\pjy aqe-[\ kzcq-]-

Whpw XΩn-ep≈ hyXymkw Ipdn-°pI(4)

6. C¥y-bpsS {Kmao-W-ta-J-e-bpsS hnI-k-\-

Øn-\mbv krjvSn-]-c-amb \n¿t±-i-ßƒ Fgp-

Xp-I. (8)

(kqN-\-Iƒ : {KmaoW hmbv], {KmaoW

Im¿jnI hn]-W-\w, ssPh-Ir-jn)

7. A\p-tbm-Py-amb kmº-Øn-I-imkv{X ]Z-sa-

gp-Xp-I.

Imem--hÿm hyXn-bm\w aqe-ap-≠m-Ip∂

sXmgn-en-√mbva. (1)

8. {]Y-a-ZrjvSym sXmgn-ep-s≠-¶n-epw, bYm¿∞-

Øn¬ sXmgn-en-√mØ Ahÿ. (1)

9. taml-\≥ Hcp F≥©n-\o-b-dnwKv _ncp-Z-[m-

cn-bm-Wv. F∂m¬ Ah≥ Hcp _kv I≠-

IvS-dmbn tPmen sNøp-∂p. taml-\≥ t\´-

ap≈ Hcp sXmgn-emfn-bm-sW-¶n¬ ̨  ImcWw

Fgp-Xp-I. (2)

10. \nß-fpsS Pn√-bnse BtcmKy kuI-cy-

ßƒ e`y-am-°p∂ ÿm]-\-ß-fpsS Hcp enÃv

Xbm-dm-°p-I. (4)

11. C¥y-bnse aÆns‚ A]-N-b -Øns‚

ImcWw Xncn-®-dn™v Ipdn∏v Xbm-dm-°pI.

(4)

12. {Kq∏n¬s∏-Sm-Ø-Xns\ Is≠-Øp-I.

 ASEAN, BRICS, WTO, GATT (1)

13. Xmsg-∏-d™ncn-°p-∂-h-bn¬, GXp cmPy-

Øns‚ H∂mw ]©-h-’c ]≤-Xn-bmWv 1956

¬ Bcw-`n-®-Xv.

F. C¥y     _n.   ssN\

kn.  djy      Un.    ]m°n-ÿm≥

icntbm sXt‰m Fs¥-s∂-gp-Xp-I.

14. t{K‰v eo∏v t^m¿th¿Uv F∂ ]cn-]mSn

]m°n-ÿm-\nse h≥]n® hyh-kmb h¬°-

c-W-Øn-\m-bn-´mWv Bcw`n®Xv (1)

15. H‰-bms\ Xncn-®-dn-bpI (1)

Db-cw, Xq°w, kXy-k-‘-X, hne, hcp-am\w
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16. Find the odd one out

Consumption, production,

investigation, distribution. (1)

17. Complete the following flow  chart with

different types of sampling. (4)

18. The marks of 30 students are given

below.

Prepare a frequency table by using

exclusive class intervals. (4)

19. The marks secured by 60 students in an

examination are given below.

16. {Kq∏n¬s∏-Sm-Ø-Xns\ Is≠-Øp-I.

D]-t`m -Kw, DXv]m -Z -\w, At\z -j-Ww,

hnXcWw (1)

17. Xmsg sImSp -Øn-cn -°p∂ ^vtfmNm¿´v

]q¿Øn-I-cn-°pI. (4)

18. 30 Ip´n-I-fpsS am¿°v Xmsg tN¿Øn-cn-°p-

∂p.

FIvkv¢q-kohv ¢mkv CS-thf D]-tbm-Kn®v

Hcp Bh¿Ø\ ]´nI Xbm-dm-°pI

19. Hcp ¢mknse 60 Ip´n-Iƒ ]co-£-bn¬

t\Snb am¿°p-Iƒ NphsS tN¿°p-∂p.

Sampling Method

→
Randam Sampling

→ →

Judgement Quota

59. 72 77 78 78 59
68 78 53 63 55 63
63 49 64 87 68 87
76 68 72 68 72 59
78 72 63 63 58 78

Marks 0-20 20-40 40-60 60-80 80-100

No. of students 5 7 30 12 6
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a. Construct the  schedule for 'more than' and
'less than ogives

b. Draw the diagrams

c. Locate the median graphically     (5)

20. Suppose you want to study the saving

habits of the households in your

Panchyat. A survey of 50 households

were carried out and the data obtained

is tabuted as follows (5)

Correct the following statement

21. The sum of deviations of items from

median is zero (1)

22. An average alone is enough to compare

series (1)

23. Mode is the middle most item of a series

(1)

24. Daily sale of Motor Cars from 80

distributors are given below. Calculate

the standard deviation and co-efficient

of standard deviation. (8)

F. eLp-k-©nX ˛ Kpcp-k-©nX ]´nI Xbm-dm-

°pI

_n. Ah-bpsS Nn{Xw hc-bv°pI

kn. Nn{X-Øn¬ aoUn-b≥ tcJ-s∏-Sp-ØpI.  (5)

20. \nß-fpsS ]©m-b-Ønse 50 Km¿lnI

bqWn-‰p-I-fpsS \nt£-]-ioew IW-°m-°m≥

Hcp k¿t∆ \S-Øn. AXn¬ \n∂pw AcnXv

sa‰nIv ao≥ I≠v, Ia‚ v sNøp-I. (5)

Xmsg-∏-d-bp∂ {]kvXm-h-\-I-fpsS sX‰p-Iƒ

Xncp-Øp-I.

21. aoUn-b-\n¬ \n∂p≈ C\-ß-fpsS hyXym-

k-Øns‚ BsI XpI ]qPy-am-bn-cn°pw.(1)

22. Hcp am[y-Øn\p am{Xw kocn-kp-Isf Xmc-

Xayw sNøm≥ km[n-°pw. (1)

23. Hcp kocn-kns‚ G‰hpw a[y-Øn-ep≈ C\-

am-bn-cn°pw tamUv (1)

24. 80 hnX-c-W-°m-cpsS Znh-tk-\-bp≈ tamt´m¿

Imdp-I-fpsS hnev]\ IW-°p-Iƒ Xmsg

X∂n-cn -°p-∂p. Ah-bpsS Ãm≥tU¿Uv

Uohn-tb-j≥, co-efficient of standard

deviation. F∂nh ImWp-I. (8)

Class 0-100 100-200 200-300 300-400 400-500 500-600 600-700 Total

Frequency 12 15 9 7 4 2 1 50

Sales 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

No.of Class 5 9 12 18 15 11 7 3
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25. Draw the scatter diagram for each of the

relationship between X and Y

a. Positive correlation

b. Negative correlation

c. Perfect positive correlation

d. Perfect negative correlation (4)

26. Calculate simple Aggregative Price

Index for the commodities given below:

27. You are asked to study, the problems

faced by the rubber cultivators in

Kerala. List out the important steps for

preparing this project. (2)

28. Write True or False.

The width of rectangles in a histogram

should essentially be equal (1)

25. Xmsg sImSp-Øn-cn-°p∂ _‘-ß-fpsS

kvIm‰¿ Ub{Kw hc-bv°p-I.

F t]mko-‰ohv kl-_‘w

_n s\K-‰ohv kl-_‘w

kn ]q¿Æ t]mkn-‰ohv kl-_‘w

Un ]q¿Æ s\K-‰ohv kl-_‘w

6. Xmsg sImSp-Øn-cn-°p∂ km[\ tkh-\-ß-

fpsS knw_nƒ aggregative Price index

IW-Im-°pI

27. tIc-f-Ønse Irjn-°m-cpsS {]iv\-ß-sf-°p-

dn®pw ]Tn-°m≥ Dt±-in-°p-∂p-sh∂p Icp-Xp-

I. Cu s{]mPIvSv \n¿∆-l-W-Øn-\p≈

sÃ∏p-Iƒ Gh-sb∂v Fgp-XpI (2)

28. Hcp lntÃm-{Km-ans‚ sdIv{Sm-Knw-fpI-fpsS

hnkvXrXn \n›-b-ambpw Xpey-am-bn-cn-°Ww

Commodities A B C D

Base period 5 4 3 2
price

Current 7 6 5 4
period price
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1. Give one score for each shortcomings 1 + 1 2

2. Give one mark each for each points -3 1× 3 3

3. Give one score for definition and write 3 point 1+ 3 4

4. Give one score each for different programmes 1× 4 4

5. Definition 1 mark each, then difference 2 + 2 4

6. Rural credit 3 score, Agricultural marketing 3 score, 3 + 2 + 2 8
organic farming 2 score 1 1

7. Seasonal unemployment 1 1

8. Disguised unemployment 1 1

9. Under employed 1 score 1 + 1 2

10. (1) Health sub center (2) Primary health center

(3) District hospital (4) Medical Colleges etc 1× 4 4

11. Write any eight point ( ½ × 8 = 4) ` 4 4

12. ASEAN 1 1

13. Pakistans 1 1

14. False 1 1

15. Honesty 1 1

16. Investigation

17. Random Sampling : lottery method, Random number table 2

Bon - random Samping : Judgement Sampling, convenient 2 4

18. Prepare exclusive class, tally marks & frequency, formal 1× 4 4

19. Less than give (1), more than o give (1), for drawing two 1× 5 5
o gives 2'Score each, to locate median I

20. Use of equation I score, process & rip let answer 3, c.u =

equation 1 1 + 3 + 1 5

21. Sum of deviations of items of from mean is zero-false 1 1

22. False 1 1

23. False 1 1

24. SD = 1 Score, process & riplet answer (3), c.u. = equation 1 1 + 3 8
Calculation of C.V 3 score 1 + 3

25. Draw diagram 1 score each 1× 4 4

26. Formula (1) process & right answer (1) 1 + 1 2

27. Any steps 2 score 1× ½ 2

28. True 1 1

 Qn. Sub Scorinf Indicators Score Total

No. Qns

SCORING Key
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s]mXp-\n¿t±-i-ßƒ

• \n¿±njvS ka-b-Øn\v ]pdw 15 an\n´v "Iqƒ Hm^v ssSw' D≠m-bn-cn-°pw. Cu ka-bØv tNmZy-ßƒ°v
DØcw Fgp-Xmt\m, a‰p-≈-cp-ambn Bibw hn\n-abw \S-tØmt\m ]mSn-√.

• DØ-c-ßƒ Fgp-Xp-∂-Xn\v apºv tNmZy-ßƒ {i≤m-]q¿∆w hmbn-°-Ww.

• F√m tNmZy-ßƒ°pw DØcw Fgp-X-Ww.

• Hcp tNmZy-\-º¿ DØ-c-sa-gp-Xm≥ sXsc-s™-SpØv Ign-™m¬ D]-tNm-Zy-ßfpw AtX tNmZy-\-º-
cn¬ \n∂v Xs∂ sXsc-s™-Sp-t°-≠-Xm-Wv.

• IW°v Iq´-ep-Iƒ, Nn{X-ßƒ, {Km^p-Iƒ, F∂nh DØ-c-t]-∏-dn¬Øs∂ D≠m-bn-cn-°-Ww.

• Bh-iy-ap≈ ÿeØv ka-hm-Iy-ßƒ sImSp-°Ww

• tNmZy-ßƒ ae-bm-f-Ønepw \¬In-bn-´p-≠v.

• t{]m{Km-ap-Iƒ sNøm-\m-ImØ Im¬°p-te-‰-dp-Iƒ Hgp-sI-bp≈ Hcp Ce-Ivt{Sm-WnIv D]-I-c-Whpw

]co-£m-lm-fn¬ D]-tbm-Kn-°m≥ ]mSn-√.

1. Where there any positive contributions

made by the British in India; Discuss(2)

2. List out the favourable and

unfavourable arguements for

agricultural subsidy (3)

3. Identifiy different  ways of privatisation.

(4)

4. Mention any four  poverty alleviation

programmes; effective for poverty

alleviation. How far they have less

effective (4)

1. {_o´ojv `c-W-Øns‚ kw`m-h-\-Iƒ Gh?

(2)

2. Im¿jnI k_vkn-Un°v A\p-Iq-en®pw {]Xn-

Iq-en®pw hmZ-K-XnIƒ Fgp-XpI. (3)

3. kzIm-cy-h¬°-c-W-Øns‚ hnhn[ hgn-Iƒ

Xncn-®-dn-bp-I. (4)

4. Zmcn - {Zy -\n¿Ωm¿÷\ ]cn -]m -Sn -I -fn¬

\mseÆw Fgp-Xp-I. Ah F{X-am{Xw ^e-

{]m-]vX-am-bn-cp∂p? (4)
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5. Suggest few measures to convert human

capital into human capital formation (4)

6. Diversification in agricultural

productive activity helps agricultural

labourers to shift from agriculture to

allied activities for sustain thir

livelihood. Prepare a seminar paper on

this statement. (8)

7. Write the economic term.

Able bodied persons willing and

seeking work but no work at all (1)

8. Unemployment in between leaving

present job and picking up the next job

(1)

9. When readymade garments become

popular the local tailors loose their job.

Give a suitable term for the situation and

define it (2)

10. List out the major sources of energy (4)

11. Sustainable development requires an

eco-friendly technology - Explain? (4)

Match the following

12. China - High Density of Population (1)

13. Pakistan- One Child norm (1)

14. India - High fertility Rate (1)

15. Find the odd one out

Intelligence, Beauty, Attitude,

Temperature (1)

5. C¥y-bnse _rl-Ømb a\p-jy-hn-`-hsØ

a\pjy aqe-[-\-ambn ]cn-h¿Ø\w sNøm-

\p≈ GXm\pw am¿§-ßƒ \n¿t±-in-°p-I.

6. Im¿jnI taJ-e-bnse sXmgn-em-fn-Iƒ°v

Irjn-bn¬ \n∂pw a‰v Irjn A\p-_‘

{]h¿Ø-\-ß-fn-te°v amdn D]-Po-h\w \ne-

\n¿Øm≥ klm-bn-°p-∂-XmWv "DZv]m-Z\

{]{In-b-bnse sshhn[yw' Cu hnj-b-sØ-

°p-dn®v Hcp skan-\m¿ t]∏¿ Xbm-dm-°pI

(8)

7. icn-bmb kmº-Øn-I-imkv{X ]Zw Fgp-Xp-

I. (1)

Btcm-Ky-hpw, am\-kn-I-hp-amb Ign-hp-≠m-

bn´pw sXmgn¬ e`n-°mØ Ahÿ (1)

8. \ne-hn-ep≈ sXmgn-en¬ \n∂pw as‰mcp

sXmgn-en-te°v amdp∂ Ime-tØ-°p≈

sXmgn-en-√mbva (1)

9. sdUn-sabvUv {U�p-Iƒ P\-{]n-b-am-b-tXm-

Sp-IqSn {]mtZ-inI Xø¬ sXmgn-em-fn-Iƒ°v

sXmgn-en-√msX hcp∂p. Cu sXmgn-en-√mbva

GXv? \n¿∆-Nn-°pI. (2)

10. Du¿÷-Øns‚ hnhn[ Dd-hn-S-ßƒ GsXm-

s°-sb∂v Is≠Øn Fgp-XpI. (4)

11. kpÿnc hnI-k-\ -Øn\v ]cn -ÿnXn

kulm¿±-]-c-amb kao-]\w Bh-iy-amWv

˛ hni-Z-am-°pI. (4)

tNcpw-]Sn tN¿°pI

12. ssN\ ˛ Db¿∂ P\-km-{µX (1)

13. ]mIn-ÿm≥˛Hcp Ip´n F∂ XXzw (1)

14. C¥y ˛ Db¿∂ s^¿´n-en‰n \nc°v

(1)

15 {Kq∏n¬s∏-Sm-Ø-Xns\ Is≠-ØpI (1)

_p≤n, kuµcyw, at\m-`-hmw, Dujvamhv
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16 Write True or false

In  singular sense statistics means

numerical facts systematically collected.

(1)

17. The data collected by the investigator

is called the secondary data (1)

18 Non-sampling errors can be minimised

by taking large samples (1)

19. .............refers to the selection of the

population from which information is

to be obtained (1)

20. Find the agency in India which  collect

and process  statistical data. (1)

a. RBI

b. Assocham

c. Registrar general of India

d. ADB

21. Following are the scores obtained by

25 students in a class tests.

The above data is a raw data

(1) Arrange them in a ascending or

descending order of magnitude

(2) Construct a table of frequency

distribution (4)

16. GIh-N\ cq]-Øn¬ ÿnXn-hn-hc imkv{X-

sa-∂m¬ imkv{Xo-b-ambn tiJ-cn® kwJy-

]-c-amb hkvXp-X-bm-Wv. (1)

17. At\z-j-I≥ t\cn v́ tiJ-cn-°p∂ tU‰m-sb-

bmWv ZzXob tU‰m F∂p hnfn-°pI. (1)

18. kmºn-fnwKv A√m-sX-bp≈ sX‰p-Iƒ Ipd-

bv°p-hm≥ henb kmºn-fp-Iƒ kzoI-cn-®m¬

aXn-bm-Ipw. (1)

19. .......... F∂p ]d-™m¬ t]m∏p-te-j-\nse

Nne-h-bpsS am{Xw hnh-c-ti-J-cWw \S-Øp-

∂-XmWv. (1)

20. tZio-b-X-e-Øn-epw, tÃ‰v Xe-Ønepw Ãm‰n-

Ãn-°¬ tU‰ tiJ-cn-°p-∂  GP≥knsb

Xnc-s™-Sp-sØ-gp-XpI. (1)

F. B¿.-_n.sF

_n. Atkm®w

kn. cPn-kv{Sm¿ P\-d¬ Hm^v C¥y

Un. F..Un.-_n.

21. Hcp ¢m�nse 25 Ip´n-I-fpsS am¿°v NphsS

tN¿°p-∂p.

Cu Akw-kvIrX tU‰m-bn¬ \n∂v

(1). Btcm-l-W, Ah-tcm -lW {Ia-Øn¬

tU‰msb {Iao-I-cn-°pI.

(2) frequency table  s‚ Hcp tS_nƒ \n¿Ωn-

°pI. (4)

75 78 65 75 67
66 78 48 56 65
48 64 63 75 65
78 86 56 87 65
56 56 65 67 57
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22.

What inference can be made from the

above pie diagrams? Write three steps

for constructing a pie diagram (5)

23. Cumulative frequency curves are called

....................... (1)

24. Average marks of 60 students for

mathematics are given below. (5)

(a) Calculate median and mode

25. Correct the following sentences

The upper quartile has 25% of the items

of the distribution below it. (1)

26. The percentiles devides the distribution

into ten equal parts. (1)

27. A satisfactory average need not be

based on all values (1)

22.

apI-fn¬ sImSp-Øn-cn-°p∂ ss] Ub-{K-ß-

fn¬ \n∂pw F¥v A\p-am-\-Øn-seØmw?

(5)

23. Ipan-te-‰ohv {^oIz≥kn h{IsØ ........ F∂v

hnfn-°pw. (1)

24. IW-°ns‚ 60 Ip´n-I-fpsS am¿°v NphsS

tN¿°p-∂p. (5)

aoUn-b\pw tamUpw Is≠-Øp-I.

25. Xmsg-∏-d-bp∂ hmIy-ßsf icn-bm-°p-I.

Hcp Unkv{Sn-_yq-js‚ 25 C\-ßƒ A∏¿

Izm¿´-bn-en\v Xmsg-bm-bn-cn-°pw. (1)

26. t]gvk‚n-bn¬ Hcp Unkv{Sn-_yq-js\ 10

Xpey-`m-K-ß-fmbn Xncn-°p-∂p. (1)

27. Xr]vXn-I-c-amb Hcp icm-icn F√m aqey-ß-

tfbpw ASn-ÿm-\-s∏-´n-cn-°-W-sa-∂n√.(1)

Class 0-10 10-20 20-30 30-40 40-50 50-60 60-70

No.of Class 5 7 12 15 10 8 3

Regular retained

Self employed

Casual labourers
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28. Calculate mean deviation and standard

deviation from the following

distributions. (8)

29. Calculate the Correlation coefficient

between the years of education of

farmers and annual yield per acre and

comment on the result. (4)

30. The GDP of India was calculated at

prices prevailing in the year 1993-94. It

was Rs. 150455 crores in the year 1950-

51 and it increased to Rs. 1233787 crores

in the year 2000-01. Is the GDP

measured at current prices or constant

prices. Which is the base year here? (2)

31. List out the steps involved in the

making of a project (2)

28. Xmsg sImSp-Øn-cn-°p∂ hnX-c-W-Øn¬

\n∂v ao≥ Uohn-tb-j≥, Ãm≥tU¿Uv Unhn-

tb-j≥ F∂nh Is≠-Øp-I. (8)

29. Xmsg sImSp-Øn-cn-°p∂ Irjn-°m-cpsS

hnZym`ymk Ime-b-fhpw Htc°dnse

hm¿jnI hcp-am-\hpw XΩn-ep≈ Co-

rrelation Co-efficient I≠p ]nSn-°p-I.

^e-Øns\ Ipdn®v hni-I-e\w sNøp-I.

(4)

30. 1993-94 hne-Isf B[mc-am-°n-bp≈  GDP

Xn -́s∏-Sp-Øn-bXv C{]-Im-c-am-bn-cp-∂p. 1950-

51  ¬ Rs. 150455 tImSn. CXv 2000-01 ¬

Rs. 1233787tImSn-bmbn h¿≤n-®p. Cu GDP

bpsS \n¿Æbw Id‚ v ss{]k-kn-em-tWm,

tIm¨Ã‚ v ss{]k-kn-em-tWm, Chn-SpsØ

t_kv Cub¿ ss{]kv GXmWv? (2)

31. Hcp s{]mPIvSv Xbm-dm-°p-∂-Xn\v Dƒs∏-Sp-

tØ≠ L´-ßƒ Gh-sb∂v Fgp-Xp-I. (2)

Classes Frequencies

20-40 3

40-80 6

80-100 20

100-120 12

120-140 9

Years of Education 0 2 4 6 8 10 12

Annual yield per acre 4 4 6 10 10 8 7
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SCORING Key

1. (1)  English education 1 2

(2)  Infrastructure like railway 1

2. Favourable arguments 1½ 3

Unfavourable argument 1½

3. Disinvestment 1

Corporatisation 1

Joint section 1 4

Conclusion 1

4. Any 4 poverty alleviation programmes 1× 4 4

5. Investment in edn, investment in health, on the 1× 4 4

for training migration

6. Agri Processing industries, animal husbandry fisheries,

horticulture, other alternative livelihood options 4× 2 8

7. Involuntary unemployment 1 1

8. Frictional unemployment 1 1

9. Structural unemployment, definition 1 + 1 2

10. Commercial & non commercial sources 2

Conventional & non- conventional 2 4

11. (1)  Non-commercial sources of energy 1× 4 4

(2)  Traditional knowledge (3) Bio-composting

(4)  Bio-pest control

12. a.  China 1 1

13. Pakistan 1 1

14. India 1 1

15. Temperature 1 1

16. False 1 1

17. False 1 1

18. False 1 1

19. Sample 1 1

20. Registrar general of India 1 1

21. Arrange in orderly way, Frequency array 2 + 2 4

22. Inference, constructing steps 2 +3 5

23. Ogives 1 1

24. Formula median & mode, process 1× 2 =2, Answer 1 + 2 1×2 =2
1 + 2 =3 5

 Qn. Sub Scorinf Indicators Score Total

No. Qns
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25. Corrected statement 1 1

26. Corrected statement 1 1

27. Corrected statement 1 1

28. Formula 80 MD (2), Process & Answer 2 + 2+2+2 8

29. Formula 1, Process & result (2) Comment 4 4

30. At current pr 1, 1993-94 1 + 1 2

31 4 steps ½×4 2

 Qn. Sub Scorinf Indicators Score Total

No. Qns


